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Seat No.: _____                                                      Enrolment No.______ 
   

GUJARAT TECHNOLOGICAL  UNIVERSITY 
Diploma  Semester -VI  Regular Examination May - 2011 

 

Subject code: 362901 

Subject Name: Advance Knitting Technology 
 

Date: 16 /05 /2011                             Time:  02.30 pm – 05.00 pm 

                       Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is Authentic 
 

Q.1 (a) Explain production of fabric in weft knitting machine with the help 

of latch needle 

07 

 (b) Explain any six terms used in knitting. 07 

Q.2    

 (a) With neat sketch explain spring beard needle. 07 

 (b) Explain derivatives of single jersey structure 07 

  OR  

 (b) Explain ribknit  and interlock structure. 07 

Q.3    

 (a) Explain guide bar swinging motion. 07 

 (b) Write a short note on yarn preparation of warp knitting machine. 07 

  OR  

Q.3 (a) Explain the use of computer in designing and patterning. 07 

 (b) Write down the characteristic of single jersey structure. 07 

    

Q.4    

 (a) Calculate daily production of a circular weft knitting machine in sq 

meters which is working with 40 feeders, 40 R.P.M. and 98% eff.  

Courses/inch 48 diameter of machine is 36inch shrinkage is 35% 

stitch length is 0.2cm. machine is working with 2/600 D yarn  

07 

 (b) Calculate the Kgs. of yarn required for above example. 07 

  OR  

Q. 4 (a) Explain the properties of yarn used in weft knitting machine. 07 

 (b) Explain milano rib and ponte-de-roma. 07 

    

Q.5    

 (a) Draw a dot diagram of atlas, morquisette and shark skin. 07 

 (b) Draw a chin link notation for full tricot, loop raised and satin. 07 

  OR  

Q.5 (a) Write a common fault and causes for fault in warp knitting machine.  07 

 (b) Draw a symbolic representation of gabardine and poplin. 07 
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5|`Gv!5|`Gv!5|`Gv!5|`Gv!    V કાપડ બનાવવા માટ વે�ટ િનટ�ગ મિશન મા લેચ િનડલ વડ �પૂ � �

કવી �રતે બને છે તે સમ�વો� .  

07 

    A નીટ�ગ મા ંઉપયોગમા ંઆવતી કોઇ પણ છ ટ%સ& િવશે જણાવો. 07 

       

5|`GvZ5|`GvZ5|`GvZ5|`GvZ    V (વ)છ આ*િત સાથે (,�ગ બીયડ& નીડલ િવશે સમ�વો. 07 

    A િસ-ગલ જસ. (/0ચરના ડર1વેટ12સ િવશે સમ�વો� . 07 

     VYJFVYJFVYJFVYJF  

    A ર1બનીટ અને ઇ4ટરલોક (/0ચર સમ�વો. 07 

5|`Gv#5|`Gv#5|`Gv#5|`Gv#       

    V ગાઇડ બાસ& ની (વ�ગ�ગ મોશન સમ�વો. 07 

    A વોપ& નીટ�ગ માટ થતી યાન& ,ીપરશન િવશે 5ંકન6ધ લખો� � ુ . 07 

     VYJFVYJFVYJFVYJF  

5|`Gv#5|`Gv#5|`Gv#5|`Gv#       

    V ડ1ઝાઇન�ગ અને પેટન;ગમા ંકો%<=ટુરની ઉપયોગીતા સમ�વો. 07 

    A િસ-ગલ જસ. (/0ચરના >ણધમ? લખોુ . 07 

       

5|`Gv$5|`Gv$5|`Gv$5|`Gv$       

    V વે�ટ નીટ1ગ@ ુએક �દવસ @ ુ ,ોડ0શન (0વેર મીટસ&મા ં શોધો, આ 

મશીનમા ં 40 ફ1ડસ& છે G 40 આર.પી.એમ. અને 98% કાય&Kમતા 

સાથે કામ કર છે� ,કોસ.સ/Mચ=48,મશીન નો ડાયામીટર=36 Mચ, 

િQ-કજ� =35%, અને (ટ1ચ લSથ=2 સે.મી. છે,આ મશીનમા ં 2/600 

ડનીયર@ યાન& વપરાય છે� ુ .  

07 

    A ઉપર ના દાખલામા ંકટલા �કલો યાન& જોઇશે તે ગણો� . 07 

        VYJFVYJFVYJFVYJF     

5|`Gv$5|`Gv$5|`Gv$5|`Gv$       

    V વે�ટ નીટ1ગમા ંવપરાતા યાન& ના >ણધમ? જણાવોુ . 07 

    A મેલીનો ર1બ અને પો4ટો-ડ�-રોમા િવશે સમ�વો. 07 

       

5|`Gv55|`Gv55|`Gv55|`Gv5       

    V એટલાસ,મો0વ.(ટ,અને સાક&(ક1ન નો ડોટ ડાયાVામ દોરો. 07 

    A Wલ /ાયકોટ,�પૂ રઇ(ડ અને સાટ1નના ચેઇન લ�ક નોટશન દોરો� � . 07 

     VYJFVYJFVYJFVYJF     

5|`Gv55|`Gv55|`Gv55|`Gv5       

    V વોપ& નીટ�ગમા ઉદભવતી ખામીઓ અને તેના કારણો જણાવો.  07 

    A ગેબડZન અને પોપલીન ના સી%બોલીક ર1,ેઝટંશન દોરો� . 07 
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